Natme: Multiply by 10

Working Mathematically

I
21 x 10 = 10 x 57 = :
: 1) The maximum number of people each
27 x 10 = 10 x 16 = [ carriage can carry is 78.
: (V) V) V) Wedcl) V) ) ), V) e,
43 x10 = 10 x 84 = : What's the maximum number of
: passengers that this train can
67 x 10 = 10 x 6 = [ carry?
- 1
[ . .
43 x 10 = 10 x 9 = : 2) There are 46 blocks in each pile.
[
69 x 10 = 10 x 43 = :
- T
[ How many blocks in 10
58 x 10 = 10 x 36 = : p”E‘,S?
[
80 X 10 = 10 X 73 = : 3) 76 pIGnES landed each hour.
e’
67 x 10 = 10 x 44 = :
| How many planes landed in 10
29 x10 = 10 x 53 = | hours?
|
93 y 10 = 10 %« § = :4) 98 concrete blocks were used to
- -1 construct each pylon.
|
34 x 10 = 10 x 54 = '
— —§ 98 blocks
| | : i
oo v10 = toxes=__}  RNEINEE
[
| How many blocks were used in this
18 x 10 = 10 x 76 = | bridge?
[
56 x 10 = 10 x 18 = : 5) Each bus can carry 56
I passengers. DDOOC]D
| ‘© O
34 x10 = 10 x 97 = : How many buses are needed to
| transport 545 students?
88 x 10 = 10 x 53 = !
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